ORDER #006112



02/27/2025 05:00 AM | Install 02/27/2025 07:00 PM | Event - TBD 02/28/2025 02:00 AM | Strike - TBD PO: MACRO Oscars 2025

Shipping Address:

Laya Restaurant: 1430 N Cahuenga Blvd,

Los Angeles, CA 90028

Platinum Events

Order Date: February 18, 2025

Due Date: Upon Receipt

Description		Qtty	Price		Total
General					
	Belgium Fabric - Rust	1	\$1,500.00	Т	\$1,500.00
	Belgium Fabric - Mustard	1	\$1,200.00	Т	\$1,200.00
	Pillows - 18' x 18' Stitch + Insert Fee Only	20	\$20.00	Т	\$400.00
	Pillow - 16' x 16' Stitch + Insert Fee Only	20	\$20.00	Т	\$400.00
	Stanchion, Gold	13	\$17.50	Т	\$227.50
	Velvet Rope - Black	12	\$15.00	Т	\$180.00
	Banquet Table, 6ft	3	\$14.00	Т	\$42.00
	Black Linen - Poly - 6ft	3	\$28.50	Т	\$85.50
	Hedge Panel, 4' X 8'	3	\$150.00	Т	\$450.00
	Chairs - TBD	6	\$10.00	Т	\$60.00
			Total General		\$4,545.00
Starbucks					
	Starbucks Branding - Dye Cut Vinyl Center Arch	1	\$25.00	Т	\$25.00
	Arch - Free Standing - 36" x 8'	1	\$150.00	Т	\$150.00
	Arch - Free Standing - 36" x 7'	2	\$150.00	Т	\$300.00
	Full Wrap Arch - Starbucks Brand Green 36" x 96"	1	\$175.00	Т	\$175.00
	Full Wrap Arch - Starbucks Brand Green 36" x 84"	1	\$150.00	Т	\$150.00
			Total Starbucks		\$800.00
Outside Entra	ance				
	Carpet - Black - 6' x 135'	1	\$1,701.00	Т	\$1,701.00

Description		Qtty	Price		Total
		Total Outside Entrance		nce	\$1,701.00
Area - 1					
	Mage Side Table - Gold W. Marble Top * Black Marble Top *	3	\$95.00	Т	\$285.00
	Lippa Cocktail Table - Gold W. Black Marble Top ** Black Marble Top *	5	\$125.00	Т	\$625.00
	Celine Ottoman, Black	14	\$55.00	T	\$770.00
	Relay Coffee Table - Gold	4	\$125.00	T	\$500.00
			Total Area	a - 1	\$2,180.00
Area - 2					
	Vantage Coffee Table	3	\$125.00	Т	\$375.00
	Riser - 6' x 8' x 12"h	1	\$250.00	Т	\$250.00
	Carpet Stage Cover - 8' x 10' Color:	1	\$165.00	T	\$165.00
	Los Angeles Dj Booth - 6ft Color: TBD	1	\$250.00	Т	\$250.00
<u> </u>	Olivia Cocktail Table, Gold	4	\$110.00	T	\$440.00
	Dance Floor - 15' x 24'	1	\$1,170.00	Т	\$1,170.00
	Full Wrap Dance Floor - 15' x 24'	1	\$2,520.00	Т	\$2,520.00
			Total Area	a - 2	\$5,170.00
Area - 3					
	Wired Coffee Table	4	\$125.00	Т	\$500.00
	Back Pillows Black White Pattern Fabric Dimm: 62" x 3" x 16"h w/ low profile foam insert. Upholstery + Foam Fee Only	2	\$95.00	T	\$190.00

Description		Qtty	Price		Total
	Back Pillows Black White Pattern Fabric Dimm: 44" x 3" x 16"h w/ low profile foam insert. Upholstery + Foam Fee Only	1	\$80.00	Т	\$80.00
	Back Pillows Black White Pattern Fabric Dimm: 38" x 3" x 16"h w/ low profile foam insert. Upholstery + Foam Fee Only	4	\$75.00	Т	\$300.00
	Ottoman - "S" - Rust	8	\$100.00	Т	\$800.00
	Lippa Cocktail Table - Gold W. White Marble Top ** Black Marble Top **	4	\$125.00	T	\$500.00
			Total Area - 3		\$2,370.00
Area - 4					
	Accent Table - Tripod - Gold	4	\$95.00	Т	\$380.00
			Total Area	a - 4	\$380.00
Area - 5					
	Celine Ottoman Velvet, Black	6	\$55.00	Т	\$330.00
	Chevron Ottoman - Upholster Fee Upholstery Fee Only *	6	\$50.00	Т	\$300.00
	Back Pillows Rust w/ Mustard Piping Dimm: 40" x 3" x 16"h w/ low profile foam insert	3	\$76.00	Т	\$228.00
	Back Pillows Rust w/ Mustard Piping Dimm: 34" x 3" x 16"h w/ low profile foam insert	1	\$65.00	Т	\$65.00
	Back Pillows Rust w/ Mustard Piping Dimm: 20" x 3" x 16"h w/ low profile foam insert	1	\$50.00	Т	\$50.00
	Coffee Table - Wired	3	\$125.00	Т	\$375.00
			Total Area	a - 5	\$1,348.00
Area - 6					
	Hard Set Wall 17' x 10'h	1	\$600.00	Т	\$600.00
	Vinyl Wrap Wall 17' x 10'	1	\$1,190.00	Т	\$1,190.00
			Total Area - 6		\$1,790.00
Area - 7					
	Celine Ottoman, Any Color	8	\$55.00	Т	\$440.00
	Ottoman Cover - Rust Belgium Fabric	8	\$125.00	Т	\$1,000.00

Description		Qtty	Price		Total
	Wired Cocktail Table	6	\$110.00	T	\$660.00
	Custom Cover Seat Pad Upholstery Fee Only	6	\$75.00	T	\$450.00
	Custom Cover Back Pillow Upholstery Fee Only	12	\$40.00	T	\$480.00
			Total Area	ı - 7	\$3,030.00
Area - 9 Sepho	ra				
	Vinyl Wrap Doors Double Sided 3' x 8'h Black	2	\$175.00	Т	\$350.00
	Sephora Carpet - Install Only	1	\$275.00	Т	\$275.00
	Hard Set Wall 25' x 8' - 10'h Left Side	1	\$900.00	Т	\$900.00
	Hard Set Wall 5' x 8' - 10'h Right Side	1	\$250.00	Т	\$250.00
	Vinyl Wrap - 225sf Left Side Wall Sephora Stripes	1	\$1,575.00	Т	\$1,575.00
	Vinyl Wrap - 45sf Right Side Wall Sephora Stripes	1	\$315.00	Т	\$315.00
	Sephora Build - 20' x 8'h Clear Acrylic Shelving Pegs for Bags	1	\$2,750.00	Т	\$2,750.00
	Vanity Mirror - 24" x 67" For Sephora Build	2	\$250.00	Т	\$500.00
	Black Vinyl Wrap 22' x 8' Full Wrap Sephora Build	1	\$704.00	Т	\$704.00
	Peg Wall - 4' x 10'h	1	\$275.00	Т	\$275.00
	Vinyl Wrap - 60sf Peg Wall in Stripes	1	\$420.00	Т	\$420.00
		Total Area - 9 Sephora		ora	\$8,314.00
Portrait Studio					
	Portrait Photo Vinyl Print Dimm: 48" x 96"	5	\$225.00	Т	\$1,125.00
	Box	1	\$0.00	Т	\$0.00
	Set Walls Portrait Studio Tunnel Walls Dimm: 68' x 8'h	1	\$2,125.00	T	\$2,125.00
	Vinyl Wrap Portrait Studio Tunnel Walls 544 sf Color: Black	1	\$2,176.00	Т	\$2,176.00

Description		O++v	Price	Total
Description	Carpet - Ivory - 12' x 45' ** Safety Tape to not damage venue floor **	Qtty 1	\$1,134.00 T	
		7	otal Portrait Studio	\$6,560.00
Services				
	Trucking Fee	2	\$375.00	\$750.00
	Install Crew	10	\$320.00	\$3,200.00
	Strike Crew	8	\$210.00	\$1,680.00
	1.5% W.C. Fee	1	\$711.10	\$711.10
	Pre Production Fee Site Visits, Layouts, Renderings, Material Sourcing	1	\$2,860.00	\$2,860.00
Notes			Total Products:	\$38,188.00
		Total La	bor/Services/Misc:	\$9,201.10
			Taxes : Discounts:	\$3,627.86 (\$0.00)
			Total:	\$51,016.96
			Payments:	(\$0.00)
			Balance:	\$51,016.96